VAL 2 ARSI B E AR E R (RN IR BT 5
FR2443H 21 B OK) F8F
(Uhsr) e il

FERB L OF oW B K
R B & B HiFE 3 TREN | AT RS
B AN |5 E]53e] 7 5 5
el 18§53 R 3 0 —
= TR i i@ 5|3% D
- 12 12
% E 4
g YN[ i b 5 16 16
B pape i B 12 2 2
T t5IvY 19 4 4
FTHA 4 0 —
| i B 45 24 24
= AR T i B 5 4 4
Ed FER 1 0 —
AN [ i b 9 30 28
H Pyl i = 4 4 4
£ =|tE i ik 5 1 1
F UNES W iE 6 7 6
7 2 )P A & 10 10 9
& H 144 119 115
(JBS7)  TEREH
FERB L OF oW B K
R B T A B 5 TRER | NE TR
REVE RS @ (BRH) 10 6 6
M () 7 0 —
WH | L] G 25 8
E = 24 5
=R R i & 20 11 10
ERR T ¥%T B M 9 6
£ db 2| pH i ES 23 8 8
& At 118 44 42
® it | 262 163 157
GIES)

R % %*ﬁﬁﬁﬁ?@ﬁﬁ*ﬁﬁ)%%‘»ﬁiiﬂ
B37) A=A

FAA i} ey
¥ FIRHHREIEMER O A B, TR
ey | SEHTR 0 RO TRL TS,
ETRL L E AL O T 2 7k, HIFERE S COBEDORIILE
Lar ki 10 12 IR LB ThD,




